
 OWNER’S MANUAL 
QP-1850-G/S 



1 

Contents 
Index  ...................................................................... 1 

Description   /   Features & Specification. ..... 2 

Compliance label  ................................................... 3 

Safety Labels  .........................................................  4 

ABA (Bolt assembly)  .............................................. 5 

Bolt torque . ............................................................  6 

RTAA (assembly)  ...................................................  7 

RTAA (procedures)  ................................................ 8 

Drawings components  .................................... 9 - 10 

Assembly ....................................................... 11 - 16 

Wheels + Part Nr  .................................................  17 

Pole + Part Nr  ...................................................... 18 

Load safely ...........................................................  19 

How not to load  ....................................................  20 

Forklifting  .............................................................  21 

Warranty  .............................................................. 22 
Document container .............................................. 22 

Info. .

JSA  ........  ..............................................................  23 - 24 
Maintenance log  .......... ..............................................  25 

 .   



2 

Info - descrip on 
 

QP-1850-GS 
Aframe Trolley Rack 

“Quick Pack” Glass/Stone liner (model series) 
 

- Glass agstone handler 98° safety factor 
- Excellent for semi – skill and trainee 

aframes not recommended.)
- Forefront of unexpected wind of unloading 
- Suitable for glass, glass window, crates & agstone 

 

Features & Speci ca ons: 

• Chassis C-120 with 4 sided fork pockets 
• Eyelets external dual “Y” saddle pair 2500 kgs 
• H/duty ‘A’s with quad M14 anchor bolts 
• Load secure, ratchet strapping poles and brace safety poles 
• Wheel – carriage peg – pin removable or re t 
• Road master rolling wheels, H/Duty big bearing, d/brake 
• Tug wheeling job site   150 / 2,500 kgs ;  200 / 3,500 kgs 
• Two menw heeling 1,000 kgs 
• Powder coated green, EPDM rubberized 
• Load length 1850, load height 1700, ledger x 2  280mm 
• Tare 232 kgs 

(as 94 < 96°°



3  

F
R

A
M

E
W

E
L

D
S

B
O

L
T

S
E

Y
E

L
E

T
SIN

S
P

E
C

T
IO

N
X

L
O

A
D

 B
A

R
S

S
T

R
A

P
S

S
H

A
C

K
L

E
S

W
H

E
E

L
S

P
IN

S
R

U
B

B
E

R
C

A
P

S
L

A
B

E
L

S

S
IG

N
E

D
 :

D
A

T
E

 :

L
IA

B
IL

IT
Y

• 
N

O
 L

IA
B

IL
IT

Y
 W

IL
L

 B
E

 C
L

A
IM

E
D

 A
G

A
IN

S
T

 
  

 T
H

E
 M

A
N

U
F

A
C

T
U

R
E

 O
R

 I
T

’S
 D

IS
T

R
IB

U
T

O
R

S
 

  
 F

O
R

 D
A

M
A

G
E

(S
) 

O
R

 A
C

C
ID

E
N

T
(S

).
 • 

U
S

E
R

 &
 B

U
Y

E
R

 M
U

S
T

 R
E

A
D

, 
U

N
D

E
R

S
T

A
N

D
 

  
 &

 C
O

M
P

L
Y
 W

IT
H

 A
L

L
 L

A
B

E
L

S
 +

 M
A

N
U

A
L

S
.

B
/N

r:

W
.L

.L
W

.L
.L

W
.L

.L
W

.L
.L

W
.L

.L
W

.L
.L

Fo
rk

 S
id

e
30

00
kg

s
Fo

rk
 E

nd
11

00
kg

s
Ey

el
et

s
25

00
kg

s
C

ra
ne

 S
lip

pe
r

25
00

kg
s

Tu
g 

W
he

el
in

g
35

00
kg

s
St

at
io

na
ry

40
00

kg
s

Sl
ip

pe
r

Q
U

IC
K

 P
A

C
K

 A
-F

R
A

M
E

Q
P

-1
85

0-
G

/S

Ta
re

  2
32

 k
gs

M
nf

 2
02

#
S/

N
r:

  Q
P1

85
0-

##
#

Q
P1

8-
2#

##



4 
• 

R
E

A
D

 &
 U

N
D

E
R

S
T

A
N

D
 T

H
E

 M
A

N
U

A
L

 &
 A

L
L

 
  
 L

A
B

E
L

S
 B

E
F

O
R

E
 O

P
E

R
A

T
IN

G
.

• 
B

R
A

K
E

 M
U

S
T

 B
E

 O
N

 W
H

E
N

 U
N

/L
O

A
D

IN
G

.

• 
U

N
B

A
L

A
N

C
E

 L
O

A
D

 M
U

S
T

 B
E

 L
IF

T
E

D
 F

R
O

M
 

  
 B

A
S

E
 O

N
L

Y
 !

! 

• 
D

O
 N

O
T

 P
A

S
S

 U
N

D
E

R
 A

-F
R

A
M

E
.

W
A

R
N

IN
G

• 
L

O
A

D
 +

 F
R

A
M

E
 N

O
T

 T
O

 E
X

C
E

E
D

 W
.L

.L
.

• 
L

O
A

D
 T

O
 B

E
 S

E
C

U
R

E
D

 B
E

F
O

R
E

 M
O

V
IN

G
.

• 
M

A
X

IM
U

M
 L

O
A

D
 H

E
IG

H
T

 N
O

T
 T

O
 E

X
C

E
E

D
 

  
 L

O
A

D
 B

A
Y

 H
E

IG
H

T
 B

Y
 3

0
%

 • 
M

A
X

IM
U

M
 L

O
A

D
 L

E
N

G
T

H
 N

O
T

 T
O

 E
X

C
E

E
D

 
  

 L
O

A
D

 B
A

Y
 L

E
N

G
T

H
 B

Y
 2

5
%

 O
N

 E
N

D
S

.

C
A

U
T

IO
N

M
A

IN
T

E
N

A
N

C
E

• 
A

L
L

 L
A

B
E

L
S

 T
O

 B
E

 C
L

E
A

N
 &

 V
IS

IB
L

E
.

• 
C

H
A

S
S

IS
, 

B
O

L
T

S
, 

L
O

A
D

 B
A

R
S

, 
S

T
R

A
P

S
 E

T
C

. 
  
 M

U
S

T
 B

E
 I

N
S

P
E

C
T

E
D

 B
E

F
O

R
E

 U
S

E
, 

F
O

R
 

  
 L

O
O

S
E

, 
W

A
R

E
 O

R
 D

A
M

A
G

E
.

• 
C

H
A

S
S

IS
 A

N
D

 R
U

B
B

E
R

 C
L

E
A

N
E

D
 W

E
E

K
L

Y.

• 
D

A
M

A
G

E
D

 F
R

A
M

E
, 

L
O

A
D

 B
A

R
, 

S
T

R
A

P
S

 E
T

C
  
  
A

R
E

 N
O

T
 T

O
 B

E
 U

S
E

D
.

• 
A

C
C

ID
E

N
T

 M
A

Y
 O

C
C

U
R

 I
F

 L
O

A
D

 I
S

 N
O

T
 

  
 S

E
C

U
R

E
D

 B
E

F
O

R
E

 M
O

V
IN

G
.

• 
A

V
O

ID
 A

C
C

ID
E

N
T

 B
Y

 L
IF

T
IN

G
 F

R
A

M
E

 +
 

  
 L

O
A

D
 P

A
R

A
L

L
E

L
 &

 E
V

E
N

 A
T

 A
L

L
 T

IM
E

S
 !

!

D
A

N
G

E
R

• 
D

O
 N

O
T

 C
R

A
N

E
 S

L
IN

G
 T

H
R

O
U

G
H

 F
O

R
K

 
  
 P

O
C

K
E

T
.

• 
F

O
R

 H
E

A
V

Y
 O

R
 U

N
B

A
L

A
N

C
E

D
 L

O
A

D
 U

S
E

 
  
 C

R
A

N
E

 L
IF

T
IN

G
 S

L
IP

P
E

R
 A

T
 F

O
R

K
 P

O
C

K
E

T
.

• 
S

IT
E

 C
R

A
N

IN
G

 L
O

A
D

 M
U

S
T

 B
E

 W
IT

H
IN

 
  
 A

-F
R

A
M

E
 H

E
IG

H
T

 &
 L

E
N

G
T

H
 D

IM
E

N
S

IO
N

.

C
R

A
N

E
 -
 C

A
U

T
IO

N
F

O
R

K
L

IF
T

 -
 C

A
U

T
IO

N
• 

F
O

R
K

T
R

U
C

K
 T

Y
N

E
S

 T
O

 B
E

 I
N

S
E

R
T

E
D

 T
O

 
  

 M
A

X
IM

U
M

 D
E

P
T

H
 W

H
E

N
 L

IF
T

IN
G

.

• 
F

O
R

K
T

R
U

C
K

 N
O

T
 T

O
 P

R
O

J
E

C
T

 A
G

A
IN

S
T

 
  

 R
E

T
E

N
T

IO
N

 P
O

S
T

 W
H

E
N

 L
IF

T
IN

G
 O

R
 M

O
V

IN
G

.

W
H

E
E

L
S

 -
 C

A
U

T
IO

N
• 

IN
S

P
E

C
T

 W
H

E
E

L
S

 +
 C

A
R

R
IA

G
E

 B
E

F
O

R
E

 U
S

E
.

• 
E

N
S

U
R

E
 P

IN
S

, 
C

L
IP

S
, 

N
U

T
, 

E
T

C
 A

N
D

 W
H

E
E

L
S

 
  

 A
R

E
 S

E
C

U
R

E
D

 A
N

D
 A

R
E

 N
O

T
 D

A
M

A
G

E
D

.

• 
A

C
C

ID
E

N
T

 M
A

Y
 O

C
C

U
R

 I
F

 W
H

E
E

L
 C

A
R

R
IA

G
E

 
  

 I
S

 N
O

T
 S

E
C

U
R

E
D

 O
R

 I
F

 D
A

M
A

G
E

D
.

SA
FE

TY
 - 

C
AU

TI
O

N
• 

S
A

F
E

T
Y

 A
T

T
IR

E
 T

O
 B

E
 W

O
R

N
.

• 
A

-F
R

A
M

E
 T

O
 B

E
 L

E
V

E
L

 F
O

R
 U

N
/L

O
A

D
IN

G
.

• 
N

O
T

 T
O

 B
E

 U
S

E
D

 I
N

 W
E

T
 O

R
 W

IN
D

Y
 C

O
N

D
IT

IO
N

S
.

• 
O

N
L

Y 
T

R
A

IN
E

D
 &

 C
O

M
P

E
T

E
N

T
 P

E
R

S
O

N
N

E
L

 T
O

 U
S

E
.

ST
O

R
A

G
E



5 
ABA AACKEN BOLT ASSEMBLY

of rack trolley aframe

torque screw up.

 Zinc bolts - require annually maintenance pass 
 (higher cost factor , of year’s ahead)

Galvanize bolts - maintenance at 5 years,  
visual pass at 12 months (lower maintenance cost year’s ahead)

Dry bolts - nuts thread are subject to thread 
     clenching during ' screw up 

 Lubrication or thread lock (blue tube liquid) will extend 
bolt life if applied.

All bolts to be pre assembled semi loose then with a 
3 stages torque up 
Using blue liquid thread lock tight will act as lubricant prolonging
the galvanize bolt, sealing out acid rain or salt coastal moisture. 
Once the blue thread lock tight has semi set bolt and nut thus 
never comes lose with usages and temperature changes. 

Never use blue lock tight on hand screw up, as will pre  - set 
quick with time temperature, use only on tight screw up or 

Knowledge    ( nut torque  P6)

Read the torque carefully
size, nut TQ is not the same as bolt TQ
Wet TQ not the same as dry TQ



6 

"Beware " Dry or W TQ)

 Value are hexagon head bolt - nut grade 8.8 or 9.8

Aacken bolts / Nuts comply's to AS / NZS 1252: 1996

Diameter Wrench Dry torque Wet torque Wet TQ
M5 nut 8mm 6Nm 5.3Nm
M6 nut 10mm 10Nm 9Nm Use only
M8 nut 13mm2 5Nm 22Nm blue lock

M10 nut 16mm 50Nm 45Nm
M12 nut 18mm 85Nm 76Nm
M14 nut 21mm 140Nm 125Nm

Red or green

 Do Not use  
on bolts

t 

Aacken bolts are supply in kits form, usually bolt shaft with 

 consist the lar

ATTENTION - INFORMATION
Aacken anchor bolts of base to bottom of 'A’

1. Should always be pointing upward,
     (head under base structure with nut washer set on top 

2. The bolt thread must project 5mm past nut, (ANZ-standard)
3. Other bolts set may point downward that are not subject ti 

4. Carefully note - that eyelet beam bar is under top 'A' steel 

threaded end. T , one spring and one nut, which

, then nut on 
spring washer.

of 'A' base footing)

  direct hoist lifting, eg. rail bars and top eyelets beam bar

structural. Not bolt anchor pulling.

Nut’s Torque ........Bolt !!

Also “ Nut TQ” of same size 
(higher TQ)

* M12 bolt wet torque      84Nm  (as M12 Nut not possible  to torque of c
* M14 bolt wet torque    130Nm  (as M14 Nut not possible  to torque of c



7

 

Read carefully follow sketches Pg 9 > Pg 16

 - Man or men must wear safety clothing (steel toe boots etc.)

 assembly as on P5 and P6 this manual
- 
- Good light visuals, with no toxic fumes, or loud noise
- Ensure shipping package are stable, not to fall over or slide 

- Do not hand lift heavy components by one self
- Numbers of men, or hoisting lifting equipment must be used 

- Electric power cable tools not be used !
- Use only battery power tools and fasting tools set
- Use the correct spanner/ wrench size to bolt/nut head sizes

when unpacking

- Torque wrench to use on lifting - hoisting anchor bolts

- Read and understand "ABA data sheet, of Aacken bolts 

RTAA     RACK TROLLEY AFRAME ASSEMBLE

ARRIVIAL of Shipment

 - On arrivial check package if damage
 - Note date and time of receivable packages
 - If damage must take photo or photos
 - Inform the freight forwarder 
 - Email the supplier with support evidence
* Note !  damage claim can only be at time date of delivery

of receive goods.



8
 

Procedures

e  and   

      type’s, or other auto gate lock type, wheels are  to be brake lock or 

A's ( one  with safety  

 upward, 

6.  Install the other 'A's adjucent to center A

7.  Fit central angle bar with document tube pounch to ends  'A's with

        by hand  only. 

9.  Beam bar ( eyelets) 'MUST' go under top 'A's steel cross bar 

  10. After all components are all semi bolted in place.
  Eyelets beam bar are faster after base bolts are secure and follow 

        Aacken recommend method of wet blue lock tight, prior to  bolt / nut 
        tight torgue it prolong the life and low future maintenace cost. 

1.  Unwrapped rack - base, mount low and level for assemble wheels  

xture 

    chock not to move during assemble

4.  Fit central ‘A

      bolts hand screw only, until all parts are together

 warning and swivel wheels end, screw pointing downwards bolts 

      (eyeless beam must NOT sit on of 'A's.) bolts downwards

  by mid central stable bar or tie rail bar with also document pounch 

 handle

8.  Fit low Ø16 tube tie bar at 1st level (hand screw only)  
bolts downwards

container. 

T
apply blue lock tight and torque up



9 

4 x Identical A’s



X 1 Eyelet rectangle 
       Beam Bar

    

x1 Crossbar long
Tie rail Ø16

  

 

x1

 

Rectangle base

 

10 

  

chassie C-140
2m x 1.2m

x1 Crossbar short
Tie rail Ø16

  

View page 13 < 16
for position 
components

C-120



11  
Assembly 



12 



13



14 



15  
QP-1850-G/S

1 fix wheels (stem)
2 Caster wheels (stem)
3 Stem Wheel lock pin
4 Caps 60mm chassis ledger
5 Caps 40mm A's
6 Rubber miss load
7 Rubber ledger pad
8 ‘T’ Slot Rubber A's
9 A's
10 Cross Beam 1840mm x4-A's
11 Cross bar 16x1160mm x4 A's
12 Cross bar Vx590mm x4 A's
13 Cross bar 16x1730mm x4 A's
14 QP-U120-1850x1200-Base
15 Ratchet pole-1750mm
16 M14-8.8-40mm-FT-Assem1
17 M14-8.8-120mm-HT-Assem1
18 M8-8.8-HT-40-Assem1
19 M8-8.8-FT-30-Assem1



165

8

9

10
11

12
1315 16

17

18

19

1
2

3

4

6

7

14



17 

Qty: 2 Qty: 2

Swivel dual brake 
Ø150 (6”) wheel
H/duty white nylon

850 kgs

Ridge-Fixed 
Ø150 (6”) wheel

Big bearing white nylon
850 kgs

Safety retention cam pole   
DOME CAP set of fourBBC-30W

1# bolt H10 mm x 90mm Zinc
B/10x90

Star lock washer
SLW 10x27x3mm

FW 10x30x2mm

2  CAM knob 10mm/70 
CK 10/70

1# rack aframe-retention Cam    base Peg
RC30/10-BP

1# M8 bolt x 50 with nylon lock nut

Wheels Extra H/Duty
Stem Type

Part code
Page 15(        )

Uneven
site wheeling

625 kgs

(code Pg 15)

 *Optional

Standard Ø 150 (6”)
*Optional Ø 200 (8”)

*Ø 200 (8”) : *1,000 kgs *Ø 200 (8”) : *1,000 kgs



18

 

plastic eyelet cap
strap guide (Black & white)

Straps H/d 750/1500 kgs  
     S 2.1m (polyester)
(A/Nz’s 4380) EN12195-2

Ratch buckle 1.5T
RB-005-01=25 mm

H/duty 20x40 slot steel pole
LP-RS-1750

Rubberize EPDM beaded
Fin beaded black, white
TRSR-42-B



 
19  

LOAD
SAFETY

Rack- Aframe of Materials for Transportation

S1. Must be stack central
S2. Must be stack to both sides of rack 
       “A”s equally
S3. To be same size  or approximately

same weight factor

WARNING
Materials load for Forklift,
hoisting, wheeling or storage mode
W1. To be pole brace or
W2. To be pole strap secure 
W3. Or to be ratchet strap 

Job-site craning material, to be shrink wraped

vertical



20 



 

21  

THE CORRECT WAY OF REMOVING THE 
CASTERS: 
Make sure the load is fully secured before removing the 
casters. Lift the A-Frame  the ground, high enough for 
you to have proper access to the casters. With one hand 
holding the caster, use your other hand to pull out the pin. 
This will release the caster from the A-Frame. 

Forklifting.  
Always make sure your forks are fully inserted into the A-
Frame before lifting, and this will ensure a proper and secure 
lift. 

Tilt back
to 92°
for travel

Tilt back
to 91°
to travel



WARRANTY:

A

DOCUMENT CONTAINER:

A

22 

(pre 2022)

2023 - QR Barcode
Scan with mobile phone camera. Ensure internet connection 
is available (3G, Wifi etc). User will be able to download 
manuals and Certicates.

Or go to Aacken website (www.aacken.com) navigate 
to  “my cert”   >   Enter batch number to locate the files.

# Read and understand   
manual and cert before use.



23

 
 

 

 

Job Safety Analysis  (part 1)

1. Read compliance plate on frame before using.

Procedure(s) for Aframe Trolley

2. Function of the ‘Trolley Rack Aframes’ should only be managed by 
Personnel experienced in their use and that they (the operator) be advised
of any potential hazard(s) associated with its use.

3. Recognized potential hazard(s):
A/.Crushing - (Risk Assessment Low)-Remote probability of crush injury to 
Bodily area of operator(s),of fatal consequences, subject to loss of load.
Crushing - (Risk Assessment Low)-Occasional probability of crush injury to
feet area of operator(s),of negligible consequences, subject to entrapment
of feet under casters wheels.

B/.Cuts, Stabs, Puncture - (Risk Assessment-Low)- Remote probability of
cuts/stabs/punctures to bodily area of operator(s) of marginal consequence,
subject to loss of load.

4. Function of the ‘Trolley Rack Aframes’, Buggy, Trolley type should only be  
done so wearing relevant Personal Protective Equipment - e.g. Steel toe Boots, 
Hand Protection Gloves, other if required Eye Goggles, Wrist Gauntlets,
Hard Hat and Leather Apron,etc. 

5. Function of the‘Trolley Rack Aframes’,Buggy Trolley type should only be 
done so with total and full concentration and free from distraction(s) from outside
factors (e.g. no mobile phone).

Attention: Note!:
Prior to construction Job- Site (obtain in writing if eyelets are acceptable for craning)
as some countries / State laws and Job-Site prohibit a frame with eyelets to be used.

6. Aframe- rack with heavy load wheeling to be tow-tug with elect-tug, or at  
ground ramps, or unleveled, ground surfaces 

- Store in a dry and cool place.
as rust, separation, crack  and so forth on a frequent basis.
- Confirm all the welded joints are free from any defect, corrosion or damage, such 
as they may cause the product to have an incorrect operation.
- Always keep the product clean and away from grease or other foreign substances 
- Check and tighten the nut and bolts on frequent basis
- Keep maintenance records to ensure safety checks are carried out.

 
 

 



24

SAFETY REQUIREMENTS WHEN LIFTING / MOVING LOAD 

• The operator is advised to warn other personal in the near vicinity to 

 

 

 

 

 

 

 

 

�
�

 

be worn when operating.

keep clear when any load is being lifted or moved.
• Loading or unloading frame to be on level surface.
• Load not to be loaded or unloaded in windy or rainy conditions.
• Load to be secured before lifting frame with load or moving.
• Site craning load must be lower eyelets height and overhang length max 25%. 
• Shrink-wrap or load netting must be used for site craning.
• Load material height not to exceed 30% of load bay height. (Storage)
• Load not to project 35% pass load bay length. (Storage, safety barrier

must be used)
• Glass less than 6 mm must not exceed 300mm pass frame dimensions

when 500 mm less in height.
• Load weight not to exceed W.L.L.
• Load cargo straps or load locking bars system must be used.
• Load cargo strap must be used outside load bay size dimensions.
• Top eyelets use only if load is secured, balance within eyelets W.L.L.

• For excess or unbalance load use crane lifting slipper.
• Single sided models do not crane or forklift Buggy A-Frame with load.
• When moving a load, the operator(s) is advised to keep their feet and 

legs clear of the suspended material. The load must be steadied and 
controlled at arms length.

unless 
obstructions make it unsafe or impractical to do so.

• Forklift within A-Frame fork pocket, with Forktruck carriage against 

• Do not lift loaded space A-frame in a counter lever manner with Forktruck 
(accident or damage will occur!) use long tynes or slipper's

• Frames with load in factory or site not to move more than 2kph with
retaining peg-cam brace lock in position, or slide retention post, if equip, 
otherwise ratchet - strapping to be used.

• It is strongly advised that correct ‘Personal Protective Equipment to

• Lifting frame, from fork pockets or eyelets should only be for short periods of 
time. <10 mins. Do not rush lifts. Have a plan with safety before execution.

Job Safety Analysis  (part 2)



25

 
 

Maintenance log

 
Date  Status Signature 

 
 

 
 
 
 

 

 
 

 
 
 
 

 
 

 
 
 
 

 

 
 

 

 

 

 
 

 

 

 

 
  

 

 

 



www.Aacken.com 
team@Aacken.com


